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G-5869

B. Com. (Hon's) (Second Year) Examination,
March 2022

(Applied Economics Group)
Paper : Second
ADVANCE STATISTICS
. Time Allowed : Three hours
Maximum Marks : 40
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Note : Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.
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Define Statistics and explain it5 characteristics.
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Draw a simple bar diagram to represent the following

data relating to the area under different crops in India

Crops Area (Million acre)
Rice 40
Wheat 35
Cotton 32
Jowar 30
Qilseeds 22
Fodder crops 18
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Unit-11

3, Fr= o/l 4wy, wiferdl 9 S @ Hifad—
dF (FFHH) - 10 20 30 40 S0 60 70 80
faenféal =t @@= 15 35 60 84 96 127 198 250

Calculate Mean, Median and Mode from the following
data :
Marks (lessthan) : 10 20 30 40 50 60 70 80
No. of students : 15 35 60 84 96 127 198 250
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= fwsl & e fagem 7@ Sifsa—
x 5 10 15 20 25 30 35

foo2 7 11 15 10 4 1

Find Standard Deviation for the following data :

x 5 10 15 20 25 30 35

f 2 7 15 10 4 ]

G-5869 PTO

https://www.rdvvonline.com

4. frEeTa qie wm g SFEHen

P41

TFE-1I1

Linit-1H

wrar @ Uy R T SRR I A

TinEa & A N H gATE |

Define Probability and explain the addition theorem of
probability giving suitable examples. '
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A bag contains 10 black and 20 white balls. What is the
probability of drawing : (i) a black ball, and (ii) a white
ball?

gehrs-1V
Unit-IV
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Explain the basic concept of Testing ol Hypothesis.
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[0 dr ¥ fog s% Wedean W W/, = 2.262]
A sample of size 10 has Mean as 57 and Standard

deviation as 16. Can it come from a population with
Mean 507 [1,, = 2-262 at d.f = 9]

TRE-V
Unit-V
fer sifensl @t geTam § S (Uade gewe O
I FHifd—
x o 11 10 9 8 7 6 5
y 20 18 12 8 10 5 4
Calculate Karl Pearson’s correlation coefficient from the

following data :
x + 11 1w 9 8 7 6 5

y 20 18 12 8 10 5 4
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st feeedt
ey g () T 65 67
vy fe=er 2.5 3.5

T WH ¥ g H e e +0-8
Find the most likely price in Delli corresponding to the
price of T 70 at Agra from the following data :

Agra  Dekhi
Average price (Mean) ¥ 65 67
Standard Dewviation 2-5 3.5

Coefficient of correlation between the

prices of the two places +0-8
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